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Roll No. .......................... 

MAEC.-10 (M.A. Economics) 
Second Year, Examination 2012 

MAEC-08 
Regional Economic Development and Planning 

{ks=h; vkfFkZd fodkl ,oa fu;kstu 
 

Time: 3 Hours  le;% 3 ?kaVs        Max. Marks: 60    vf/kdre vad% 60 

Note: The question paper is divided into three sections ‘A’ ‘B’ and ‘C’. 
Attempt questions of each section according to given instructions.  
uksV% ;g iz”ui= d] [k vkSj x rhu [k.Mksa esa foHkkftr gSA izR;sd [k.M ds 
funsZ”kkuqlkj iz”uksa ds mRrj nhft,A 

Section A/  [k.M&d 

Long Answer Questions  nh?kZ mRrjh; iz'u 
 

Note: Answer any two questions. Each question carries 15 marks              
15X2=30 
uksV%& fdUgha nks iz'uksa ds mRrj nhft,A izR;sd iz'u 15 vadksa dk gSA  
 

Q.1 What do you understand by Regional Economic Development? 
Discuss. 
 {ks=h; vkfFkZd fodkl ls vki D;k le>rs gSa\ O;k[;k dhft;sA 

  

Q.2 Do you think regional development plans have been successful in 
India? Explain.  
 D;k vkids fopkj esa {ks=h; fodkl ;kstuk;Wa lQy jgh gSa\ O;k[;k 
dhft;sA  
  

Q.3 Evaluate the theories of Hiresman and Myrdal with regard to 
regional development.   
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 {ks=h; laòf) ds lanHkZ esa feMZy vkSj g"kZeSu ds fl)krksa dk ewY;kdau 
dhft;sA  
  

Q.4 Explain the concept of multistage planning. 
 cgqLrjh; fu;kstu dh vo/kkj.kk dks Li"V dhft;sA  
  

 Section B/  [k.M&[k 
Short Answer Questions  y?kq mRrjh; iz'u 

 

Note: Answer any four questions. Each question carries 05 marks                   
5X4=20 

uksV%& fdUgha pkj iz'uksa ds mRrj nhft,A izR;sd iz'u 05 vad dk gSA  

 

Q.1 Explain the principles of localization.   
 LFkkuh;dj.k ds fl)kUrksa dks le>kb;sA 
  
 

Q.2 Does industrial development lead to regional infrastructural change? 
Explain.  
 D;k vkS|ksfxd fodkl }kjk {ks=h; lajpuk esa ifjorZu laHko gS\ 
 

Q.3 How do regional disparities affect the economic development?   
 {ks=h; vlarqyu fdl izdkj vkfFkZd fodkl dks izHkkfor djrk gSA 
 

Q.4 What do you mean by Industrial complex? Explain.  
 vkS|ksfxd dkWEkIysDl ls vki D;k le>rs gSa\ le>kb;sA  
 

Q.5 How do natural resources make a particular region 'Special'? 
 fdl izdkj izkd`frd lalk/ku {ks= fo'ks"k dks ^egRoiw.kZ^ cukrs gSa\ 
 

Q.6 Do you agree with the statement that 'A variety of instruments 
ranging from direct  attacks on poverty and unemployment and asset in 
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equality to more indirect fiscal  and other measures are required to 
reduce inequalities of income & wealth'. 
 D;k vki fuEu dFku ls lger gSa\ fd ^vkfFkZd vlekurk;sa de djus 
ds fy;s xjhch] csjkstxkjh rFkk ifjlEifRr vlekurk ij lh/kk izgkj rFkk 
jktdks"kh; ,oa vU; vizR;{k mik; viukus vko';d gSa^A  
 

Q.7 The main focus of balanced regional development started from 
India's Third Five  Year Plan'. Explain.  
 ^Hkkjr esa larqfyr izknsf'kd fodkl dks rr̀h; iapo"khZ; ;kstuk esa eq[; 
y{; j[k x;k FkkA le>kb;sA  
  

Q.8 Explain the concept of regional economic model.   
 {ks=h; fu;kstu ekWMYk dh vo/kkj.kk dks le>kb;sA  
 

 

Section C  [k.M&x 

Objective Questions  oLrqfu"B iz'u 
 
 

Note: Answer all questions. Each question carries 01 mark.                           
1X10=10 
uksV%&lHkh iz'uksa ds mRrj nhft,A izR;sd iz'u 01 vad dk gSA  
 
Write true or false against the following; 
fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A 
 

Q.1 Input-Output Analysis has been used for the first time by Professor 
Leontief in 1951.  
 vknk&iznk fo'ys"k.k dk iz;ksx loZizFke izksQslj fy;ksuVhQ }kjk 1951 
esa fd;k x;k  

Q.2 Professor J.R. Hicks, defines an input as "something which is 
bought for the  enterprise."   



MAEC-08 Page 4 

 

 izksQslj ts0vkj0 fgDl ds 'kCnksa esa] ^^vknk og oLrq gS ftldks m|ksx 
ds fy;s [kjhnk  tkrk gSA^^  
Q.3 Cost Benefit Analysis describes and quantifies the social 
advantages and disadvantages of a policy in terms of common monetary 
units.    
 ykxr ykHk fo'ys"k.k ls vk'k; fdlh ,d uhfr ds lkekftd ykHkksa 
rFkk vYkkHkksa dks ,d lkekU; eqnzk bdkbZ esa ifjekf.kr rFkk of.kZr djuk gSA 
   

Q.4 The Second Five Year Plan in India was based on the four sector 
Mahalanobis  model. 
 Hkkjr esa f}rh; iapo"khZ; ;kstuk dk ekWMYk egkyuksfcl ds pkj {ks=h; 
ekWMYk ij  vk/kkfjr FkkA  

  

Q.5 Regional development plans are important.   
 Hkkjr esa {ks=h; fodkl ;kstuk;Wa egRoiw.kZ gSaA  
  

Choose the correct alternative. lgh fodYi dks pqfu,A 
 

Q.6 'Planning may be defined conscious and deliberate choice of 
economic priorities by  some public authority.'   
 The above statement has been given by:-  
 a. Adam Smith   

b. Marshall   
c. Pigor   
d. Smt. Barbara Wootan 

 ^^vk;kstu fdlh yksd izkf/kdj.k }kjk vkfFkZd izkFkfedrkvksa dk lpsr 
rFkk lqfuf'pr  pquko ds :i esa ifjHkkf"kr fd;k tk ldrk gSA^^ 
 mijksDr dFku fuEu esa ls fdl vFkZ'kkL=h dk gS%& 

 d- ,Me fLeFk   
[k- ek'kZy  
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x- iht+j    
?k- Jherh ckjcjk cwVu  
  

Q.7 Role of agricultural in economic development lies in:- 
 a. Increasing the production of food b. For industrial 
development 
 c. Expansion of tertiary sector  d. Increase in employment 
  i. All the above   ii. None of the above 
 vkfFkZd fodkl ls d`f"k dh Hkwfedk fufgr gS%& 

 d- [kk| mRiknu c<+kuk  [k- vkS|ksfxd fodkl ds fy;s   
 x- rr̀h;d {ks= dk foLrkj   ?k- jkstxkj c<+kuk 
 i. mijksDr lHkh    ii. mijksDr esa ls dksbZ ugha  
   

Q.8 Theory of circular causation is given by:- 
 a. Keynes   b. Clark  c. Schumpeter  d. Myrdal    
 pdzh; dk;Zdkj.k dk fl)kUr fn;k gS%& 

 d- dhUl  [k- DykdZ  x- 'kqEihVj   ?k- feMZy 

Q.9 For the first time use of Cost-Benefit Analysis in India was made by:- 
 a. D.R. Gadgil  b. K.N. Raj  

c. Ram Narain  d. A.S. Charan 

 Hkkjr esa loZizFke ykxr ykHk fo'ys"k.k dk iz;ksx fd;k x;k%& 

 d- Mh0vkj0 xkMfxy  [k- ds0,u0 jkt   
x- jkt ukjk;u   ?k- ,0,l0 pju 

 

Q.10 The idea of regional development originated with:- 
 a. Stalin   b. Myrdal   

c. Adam Smith  d. Pigou 
 {ks=h; fodkl dh vo/kkj.kk dk fodkl gqvk Fkk%& 

 d- LVkfyu }kjk  [k- feMZy }kjk   
x- ,Me fLeFk }kjk   ?k- ihxw }kjk  
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